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NEW QUESTION 1
A systems administrator is tasked with preventing logins from accounts other than root, while the file
/etc/nologin exists. Which of the following PAM modules will accomplish this task?

A. pam_login.so

B. pam_access.so
C. pam_logindef.so
D. pam_nologin.so

Answer: D

NEW QUESTION 2
A Linux administrator needs to connect securely to a remote server in order to install application software. Which of the following commands would allow this
connection?

A. scp "ABC-key.pem" root@10.0.0.1
B. sftp rooteiO.0.0.1

C. telnet 10.0.0.1 80

D. ssh -i "ABC-key.pem" root@10.0.0.1
E. sftp "ABC-key.pem" root@10.0.0.1

Answer: D

NEW QUESTION 3
In order to copy data from another VLAN, a systems administrator wants to temporarily assign IP address 10.1.6 5/24 to the newly added network interface
enpls0fl. Which of the following commands should the administrator run to achieve the goal?

A. ip addr add 10.0.6.5/24 dev enplsOfl

B. echo "IPV4_ADDRESS=10.0.6.5/24" > /etc/sysconfig/network-scripts/ifcfg-enplsOfi
C. ifconfig 10.0.6.5/24 enpsIsOfl

D. nmcli conn add Ipv4.address-10.0.6.5/24 ifname enplsOfl

Answer: A

NEW QUESTION 4
A Linux system is getting an error indicating the root filesystem is full. Which of the following commands should be used by the systems administrator to resolve
this issue? (Choose three.)

A.df-h/

B. fdisk -1 /dev/sdb

C. growpart /dev/mapper/rootvg-rootlv

D. pvcreate /dev/sdb

E. Ivresize —L +10G -r /dev/mapper/rootvg-rootlv
F. Isblk /dev/sda

G. parted -l /dev/mapper/rootvg-rootlv

H. vgextend /dev/rootvg /dev/sdb

Answer: DEH

NEW QUESTION 5
Users have been unable to reach www.comptia.org from a Linux server. A systems administrator is troubleshooting the issue and does the following:
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Output 1:

2: eth0: <BROADCAST, MULTICAST,UP, LOWER UP> mku 1500 gdisc nogueue state UP group default glen 1000
link/ether ac:11:22:33:44:¢d brd (L:ff:00: L0 0L
inet 192.168.168,10/24 brd 192,168,169, 255 scope global dynamic noprefixroute ethi
valid 1ft B097sec preferred 1ft 8097zec

inet fed0::d4daf:B8cVc:a6ff:2771/64 scope link noprefixroute

valid 1ft forever preferred 1ft forever

Output Z:

nameserver 192.168.168.53

Output 3:

FING 192.16B.168.53 (192.168.168.53) S5¢(84) bytes of data.
64 bytes from 192,.168.168.53: ilcmp seg=1 ttl=6€4 time=2.85 ms
-—= 162, 168,168,53 ping statisticg ===

1 packets transmitted, 1 received, 0% packet losz, time Oms

rtt minfavg/max/mdev = 2.847/2.847/2.847/0.000 ms

Output 4:

192.168.168.0/24 dev eth0 proto kernel =scope link =rc 192.168.168.10 metric 600
Output 5:

;¢ QUESTION SECTION:

;'.-u'.-;;«'.u'.nj-lln! 1a.0rq. IN A

;7 RNSWER SECTION:

. 0 CLAS540%6 OPT 10 8 LgmilvkOAazl-

;o ADDITICNAL SECTIC
www.comptia.org. 3385 IN A 23.96.239.2¢

Based on the information above, which of the following is causing the issue?

A. The name www.comptia.org does not point to a valid IP address.
B. The server 192.168.168.53 is unreachable.

C. No default route is set on the server.

D. The network interface ethO is disconnected.

Answer: C

NEW QUESTION 6
A systems administrator is implementing a new service task with systems at startup and needs to execute a script entitled test.sh with the following content:

TIMESTAMP=S (date '+%Y-%m-%d $H:3M:3S')

echo "helpme,service: timestamp $(Timestamp)" | systemd-cat -p info
sleep 60

done

The administrator tries to run the script after making it executable with chmod +x; however, the script will not run. Which of the following should the administrator
do to address this issue? (Choose two.)

A. Add #!/bin/bash to the bottom of the script.

B. Create a unit file for the new service in /etc/systemd/system/ with the name helpme.service in the location.
C. Add #!//bin/bash to the top of the script.

D. Restart the computer to enable the new service.

E. Create a unit file for the new service in /etc/init.d with the name helpme.service in the location.

F. Shut down the computer to enable the new service.

Answer: BC

NEW QUESTION 7
A systems administrator created a web server for the company and is required to add a tag for the API so end users can connect. Which of the following would the
administrator do to complete this requirement?

A. hostnamectl status --no-ask-password

B. hostnamectl set-hostname "$(perl -le "print" "A" x 86)"

C. hostnamectl set-hostname Comptia-WebNode -H root@192.168.2.14
D. hostnamectl set-hostname Comptia-WebNode --transient

Answer: C
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NEW QUESTION 8
A Linux administrator needs to expand a volume group using a new disk. Which of the following options presents the correct sequence of commands to
accomplish the task?

A. partprobe vgcreate Ivextend
B. Ivcreate fdisk partprobe

C. fdiskpartprobe mkfs

D. fdiskpvcreate vgextend

Answer: D

NEW QUESTION 9
A Linux administrator needs to create an image named sda.img from the sda disk and store it in the /tmp directory. Which of the following commands should be
used to accomplish this task?

A. dd of=/dev/sda if=/tmp/sda.img
B. dd if=/dev/sda of=/tmp/sda.img
C. dd --if=/dev/sda --of=/tmp/sda.img
D. dd --of=/dev/sda --if=/tmp/sda.img

Answer: B

NEW QUESTION 10
Based on an organization’s new cybersecurity policies, an administrator has been instructed to ensure that, by default, all new users and groups that are created
fall within the specified values below.

$# Min/max values for automatic uld selection 1n useradd
B

UID MIN 1000

UID MAX 60000

$# Min/max values for automatic gid selection in groupadd
=

GID MIN 1000

GID MAX 60000

To which of the following configuration files will the required changes need to be made?

A. /etc/login.defs

B. /etc/security/limits.conf
C. /etc/default/useradd

D. /etc/profile

Answer: A

NEW QUESTION 10
A Linux administrator is adding a new configuration file to a Git repository. Which of the following describes the correct order of Git commands to accomplish the
task successfully?

A. pull -> push -> add -> checkout
B. pull -> add -> commit -> push
C. checkout -> push -> add -> pull
D. pull -> add -> push -> commit

Answer: B

NEW QUESTION 13

A systems administrator is compiling a report containing information about processes that are listening on the network ports of a Linux server. Which of the
following commands will allow the administrator to obtain the needed information?

A. ss -pint

B. tcpdump -nL

C. netstat -pn

D. Isof -1t

Answer: C

NEW QUESTION 17
A Linux system fails to start and delivers the following error message:

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy XK0-005 dumps

@ 2 P QsseaQs ":J https://www.2passeasy.com/dumps/XK0-005/ (161 New Questions)

]

Checking all f1
/dev/sdal contain file system with errors, check forced.
dal: Inodes that were part of a corrupted orphan linked list found.

i

Which of the following commands can be used to address this issue?

A. fsck.ext4 /dev/sdal
B. partprobe /dev/sdal
C. fdisk /dev/sdal

D. mkfs.ext4 /dev/sdal

Answer: A

NEW QUESTION 18
A systems administrator needs to reconfigure a Linux server to allow persistent IPv4 packet forwarding. Which of the following commands is the correct way to
accomplish this task?

A. echo 1 > /proc/sys/net/ipv4/ipv_forward
B. sysctl -w net.ipv4.ip_forward=1

C. firewall-cmd --enable ipv4_forwarding
D. systemctl start ipv4_forwarding

Answer: B
NEW QUESTION 22

A Linux administrator is troubleshooting an issue in which an application service failed to start on a Linux server. The administrator runs a few commands and gets
the following outputs:

Output 1:
Pec 23 23:14:15 root systemd|l] logsearch.service: Falled to start Logsearch,
Dutput 2:
logsearch.service - Log Search
Loaded: loaded (/fetc/systemd/system/logsearch.service; enabled; vendor presetienabled)
Active: failed (Result: timeout)
i AT s e o g — f s [ - T o o g = | TR | o
Process: 3267 ExecStart=/ust/share/logssarch/bin/logger ...
T " s PO T, & ] =FTT T
Main PID: 3267 (code=killed, signal=KILL)

Based on the above outputs, which of the following is the MOST likely action the administrator should take to resolve this issue?

A. Enable the logsearch.service and restart the service.

B. Increase the TimeoutStartUSec configuration for the logsearch.sevice.

C. Update the OnCalendar configuration to schedule the start of the logsearch.service.
D. Update the KillSignal configuration for the logsearch.service to use TERM.

Answer: B

NEW QUESTION 27

A Linux administrator is tasked with creating resources using containerization. When deciding how to create this type of deployment, the administrator identifies
some key features, including portability, high availability, and scalability in production. Which of the following should the Linux administrator choose for the new
design?

A. Docker

B. On-premises systems
C. Cloud-based systems
D. Kubernetes

Answer: D

NEW QUESTION 32

A systems administrator is tasked with installing GRUB on the legacy MBR of the SATA hard drive. Which of the following commands will help the administrator
accomplish this task?

A. grub-install /dev/hda

B. grub-install /dev/sda

C. grub-install /dev/srO

D. grub-install /dev/hd0,0

Answer: B
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NEW QUESTION 37
A cloud engineer needs to block the IP address 192.168.10.50 from accessing a Linux server. Which of the following commands will achieve this goal?

A. iptables -F INPUT -j 192.168.10.50 -m DROP
B. iptables -A INPUT -s 192.168.10.30 -j DROP
C. iptables -i INPUT --ipv4 192.168.10.50 -z DROP
D. iptables -j INPUT 192.168.10.50 -p DROP

Answer: B

NEW QUESTION 41
Which of the following files holds the system configuration for journal when running systemd?

A. /etc/systemd/journald.conf

B. /etc/systemd/systemd-journalctl.conf
C. lusr/lib/systemd/journalctl.conf

D. /etc/systemd/systemd-journald.conf

Answer: A
NEW QUESTION 44

A systems administrator is troubleshooting connectivity issues and trying to find out why a Linux server is not able to reach other servers on the same subnet it is
connected to. When listing link parameters, the following is presented:

- 1 ¥ - — B -.:.- 5 ¥ # i

n 4]__ LLlll L ol T = AT

" g m P s A0 A DD TED AR OMm MTT MT AR om T w1 TENMAD R,

Fa 31 1 ) L e - ."I'-\.-'_ _,-."I'._.L' 1 B f El'-_,'."":._l N e R R :I'.-_'u i d.'_--"'J'.-._.TI o & dilfle Ll L o W W p -J-.l._-.-\:' —
] - -, - -— - -

e e =+ = = BTV i Tala = TERTTT.T R aathl o 'i-"-- 3 ~ 1 =1

L ode]l state DOWN mode DEFAULT group default glen 1000

Based on the output above, which of following is the MOST probable cause of the issue?

A. The address ac:00:11:22:33:cd is not a valid Ethernet address.

B. The Ethernet broadcast address should be ac:00:11:22:33:ff instead.
C. The network interface ethO is using an old kernel module.

D. The network interface cable is not connected to a switch.

Answer: D

NEW QUESTION 48
A development team asks an engineer to guarantee the persistency of journal log files across system reboots. Which of the following commands would accomplish
this task?

A. grep -i auto /etc/systemd/journald.conf && systemctl restart systemd-journald.service

B. cat /etc/systemd/journald.conf | awk ‘(print $1,$3)'

C. sed -i 's/fauto/persistent/g' /etc/systemd/journald.conf && sed -i 'persistent/s/"#//q'/etc/systemd/journald.conf
D. journalctl --list-boots && systemctl restart systemd-journald.service

Answer: A

NEW QUESTION 52
A junior systems administrator has just generated public and private authentication keys for passwordless login. Which of the following files will be moved to the
remote servers?

A.id_dsa.pem
B. id_rsa
C.id_ecdsa
D. id_rsa.pub

Answer: D

NEW QUESTION 54
A systems administrator is tasked with creating an Ansible playbook to automate the installation of patches on several Linux systems. In which of the following
languages should the playbook be written?

A. SQL
B. YAML
C. HTML
D. JSON

Answer: B

NEW QUESTION 55
A Linux systems administrator is setting up a new web server and getting 404 - NOT FOUND errors while trying to access the web server pages from the browser.
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While working on the diagnosis of this issue, the Linux systems administrator executes the following commands:

i maramfsess
LT |-

ar
w

[T
x
>
"

val/waw/ okl EAJ8< il
Which of the following commands will BEST resolve this issue?
A. sed -i 's/SELINUX=enforcing/SELINUX=disabled/' /etc/selinux/config
B. restorecon -R -v /var/iwww/html
C. setenforce O

D. setsebool -P httpd_can_network _connect_db on

Answer: B

NEW QUESTION 57

rasbmes sl LiddnkTdh siafeiliis adiled WA 1B e o rwdfac daifes  wealp dnleald WE o2 pdels - s sl mrrawmlw = fd ket

A cloud engineer is installing packages during VM provisioning. Which of the following should the engineer use to accomplish this task?

A. Cloud-init
B. Bash

C. Docker
D. Sidecar

Answer: A

NEW QUESTION 59

Which of the following commands is used to configure the default permissions for new files?
A. setenforce

B. sudo

C. umask

D. chmod

Answer: C

NEW QUESTION 64

A Linux system is failing to start due to issues with several critical system processes. Which of the following options can be used to boot the system into the single

user mode? (Choose two.)

A. Execute the following command from the GRUB rescue shell: mount -o remount, ro/sysroot.

B. Interrupt the boot process in the GRUB menu and add systemd.unit=single in the kernel line.

C. Interrupt the boot process in the GRUB menu and add systemd.unit=rescue.target in the kernel line.
D. Interrupt the boot process in the GRUB menu and add single=user in the kernel line.

E. Interrupt the boot process in the GRUB menu and add init=/bin/bash in the kernel line.

F. Interrupt the boot process in the GRUB menu and add systemd.unit=single.target in the kernel line.

Answer: CE

NEW QUESTION 66

A systems administrator received a notification that a system is performing slowly. When running the top command, the systems administrator can see the

following values:

%Cpu(s): 2.7 us, 1.9 sy, 0.0 ni, 0.4 id, 95 wa, 0.0 hi, 0.0 si 0.0 st

Which of the following commands will the administrator most likely run NEXT?
A. vmstat

B. strace

C. htop

D. Isof

Answer: A

NEW QUESTION 70

A Linux administrator needs to create a new cloud.cpio archive containing all the files from the current directory. Which of the following commands can help to

accomplish this task?

A. Is | cpio -iv > cloud.epio
B. Is | cpio -iv < cloud.epio
C. Is | cpio -ov > cloud.cpio
D. Is cpio -ov < cloud.cpio

Answer: C
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NEW QUESTION 71

A Linux administrator copied a Git repository locally, created a feature branch, and committed some changes to the feature branch. Which of the following Git

actions should the Linux administrator use to publish the changes to the main branch of the remote repository?
A. rebase

B. tag

C. commit

D. push

Answer: C

NEW QUESTION 74

A Linux administrator has been tasked with installing the most recent versions of packages on a RPM-based OS. Which of the following commands will accomplish

this task?

A. apt-get upgrade
B. rpm -a

C. yum updateinfo

D. dnf update

E. yum check-update

Answer: D

NEW QUESTION 76

A Linux engineer set up two local DNS servers (10.10.10.10 and 10.10.10.20) and was testing email connectivity to the local mail server using the mail command

on a local machine when the following error appeared:

Send-mail: Cannot open mail:25
The local machine DNS settings are:

S cat /etc/resolv.conf
nameserver 10.10.10.10 #web records
nameserver 10.10.10.20 #emall records

Mall server: mall.example.com

Which of the following commands could the engineer use to query the DNS server to get mail server information?
A. dig @example.com 10.10.10.20 a

B. dig @10.10.10.20 example.com mx

C. dig @example.com 10.10.10.20 ptr

D. dig @10.10.10.20 example.com ns

Answer: B

NEW QUESTION 79

A Linux administrator needs to determine whether a hostname is in the DNS. Which of the following would supply the information that is needed?

A. nslookup
B. rsyn

C. netstat
D. host

Answer: A

NEW QUESTION 81

A Linux systems administrator needs to persistently enable IPv4 forwarding in one of the Linux systems. Which of the following commands can be used together to

accomplish this task? (Choose two.)

. sysctl net.ipv4.ip_forward

. sysctl -w net.ipv4.ip_forward=1

. echo "net.ipv4.ip_forward=1" >> /etc/sysctl.conf

. echo 1 > /proc/sys/net/ipv4/ip_forward

. sysctl —p

. echo "net.ipv6.conf.all.forwarding=I" >> /etc/sysctl.conf

mTmoOw>

Answer: BC

NEW QUESTION 86
What is the main objective when using Application Control?

A. To filter out specific content.
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B. To assist the firewall blade with handling traffic.
C. To see what users are doing.
D. Ensure security and privacy of information.

Answer: C
NEW QUESTION 88

A Linux systems administrator receives reports from various users that an application hosted on a server has stopped responding at similar times for several days
in a row. The administrator logs in to the system and obtains the following output:

Output 1:
[Tua Aug 3. Ze:3erdd Z027] OOM: Kill process 43805 (java) score 249 or sacrifice child
[Tue Aug 52 -esdecds JUZ-] Kl.led process 4:8uc (java) total-va: dddest./kB, anom-vss: 4(0%: 40kB, f:le-rss: cXkB
Output 2:
Linax 3.- 328.13.1.X8¢ 04 #¥. (noscname 0B/ 202° xEo ¢4 € CPU
=il i PM of-it -':_;5:_ Tnlce *FSYysSTSN ;-'__.-.;i'__ 5-5_:&5__ *1dl=
= SRR AT | a_ L ~ 7,28 ok o = C i LR Y I
i€:20:02 PPk al el .24 .1 ST & i X . Q4 €5.6:
LG 3 1 PM all 25.4% ¥ RS LI 1 ¢ L ¢2 .22
Output 3:
5 free -m

total used free shared buff/cache avallable
Mem: a70d 15326 174 52 olS TE3

Swa

Lo

Which of the following should the administrator do to provide the BEST solution for the reported issue?

A. Configure memory allocation policies during business hours and prevent the Java process from going into a zombie state while the server is idle.

B. Configure a different nice value for the Java process to allow for more users and prevent the Java process from restarting during business hours.

C. Configure more CPU cores to allow for the server to allocate more processing and prevent the Java process from consuming all of the available resources.
D. Configure the swap space to allow for spikes in usage during peak hours and prevent the Java process from stopping due to a lack of memory.

Answer: A

NEW QUESTION 91

A Linux administrator needs to remove software from the server. Which of the following RPM options should be used?
A.rpm -s

B.rm-d

C.rpm-q

D.rpm -e

Answer: D

NEW QUESTION 95

Which of the following is a function of a bootloader?

A. Itinitializes all the devices that are required to load the OS.

B. It mounts the root filesystem that is required to load the OS.

C. It helps to load the different kernels to initiate the OS startup process.
D. It triggers the start of all the system services.

Answer: C

NEW QUESTION 100

A systems administrator is receiving tickets from users who cannot reach the application app that should be listening on port 9443/tcp on a Linux server.
To troubleshoot the issue, the systems administrator runs netstat and receives the following output:

# netstat -anp | grep appd | grep -w LISTEN
tcp 0 0 127.0.0.1:9443 0.0.0.0:* LISTEN 1234/appd

Based on the information above, which of the following is causing the issue?
A. The IP address 0.0.0.0 is not valid.

B. The application is listening on the loopback interface.

C. The application is listening on port 1234.

D. The application is not running.

Answer: B

Explanation:
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The server is in a "Listen" state on port 9943 using its loopback address. The "1234" is a process-id

NEW QUESTION 101
A Linux systems administrator is configuring a new filesystem that needs the capability to be mounted persistently across reboots. Which of the following
commands will accomplish this task? (Choose two.)

A. df -h /data

B. mkfs.ext4 /dev/sdcl

C. fsck /dev/sdcl

D. fdisk -l /dev/sdcl

E. echo "/data /dev/sdcl ext4 defaults 0 0" >> /etc/fstab
F. echo "/dev/sdcl /data ext4 defaults 0 0" >> /etc/fstab

Answer: BF

Explanation:

"modify the /etc/fstab text file to automatically mount the new partition by opening it in an editor and adding the following line:

/dev/ xxx 1 /data ext4 defaults 1 2

where xxx is the device name of the storage device" https://learning.oreilly.com/library/view/mastering-linux-system/9781119794455/b01.xhtml

NEW QUESTION 104

A Linux administrator rebooted a server. Users then reported some of their files were missing. After doing some troubleshooting, the administrator found one of the
filesystems was missing. The filesystem was not listed in /etc/f stab and might have been mounted manually by someone prior to reboot. Which of the following
would prevent this issue from reoccurring in the future?

A. Sync the mount units.

B. Mount the filesystem manually.

C. Create a mount unit and enable it to be started at boot.
D. Remount all the missing filesystems

Answer: C

NEW QUESTION 108
Userl is a member of the accounting group. Members of this group need to be able to execute but not make changes to a script maintained by User2. The script
should not be accessible to other users or groups. Which of the following will give proper access to the script?

A. chown user2:accounting script.sh chmod 750 script.sh
B. chown userl:accounting script.sh chmod 777 script.sh
C. chown accounting:userl script.sh chmod 057 script.sh
D. chown user2:accounting script.shchmod u+x script.sh

Answer: C

NEW QUESTION 112
A database administrator requested the installation of a custom database on one of the servers. Which of the following should the Linux administrator configure so
the requested packages can be installed?

A. /etc/yum.conf

B. /etc/ssh/sshd.conf

C. letc/yum.repos.d/db.repo
D. /etc/resolv.conf

Answer: C

NEW QUESTION 117

A cloud engineer needs to remove all dangling images and delete all the images that do not have an associated container. Which of the following commands will
help to accomplish this task?

A. docker images prune -a

B. docker push images -a

C. docker rmi -a images

D. docker images rmi --all

Answer: A

NEW QUESTION 121
A systems administrator configured firewall rules using firewalld. However, after the system is rebooted, the firewall rules are not present:
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Chain INPUT (policy ACCEPT)

destination
target prot opt source
Chain FORWARD (policy ACCEPT) : _
destination
target prot opt source
Chain QUTPUT olicy ACCEPT . .
(p 7 ) destination
target prot opt scource

The systems administrator makes additional checks:

- dynamic firewall daemon
Loaded: loaded (/ust/lib/systemd/system/firewalld.service: disabled; vendor preset: enabled)
Active: inactive (dead)

Br s Ay Eimareslid 11
DOCs: man: Iirewalld (L)

Which of the following is the reason the firewall rules are not active?

A. iptables is conflicting with firewalld.

B. The wrong system target is activated.

C. FIREWALL_ARGS has no value assigned.
D. The firewalld service is not enabled.

Answer: D

NEW QUESTION 124

A developer is trying to install an application remotely that requires a graphical interface for installation. The developer requested assistance to set up the
necessary environment variables along with X11 forwarding in SSH. Which of the following environment variables must be set in remote shell in order to launch the
graphical interface?

A. $RHOST
B. SETENV
C. $SHELL
D. $DISPLAY

Answer: D

NEW QUESTION 125
A Linux administrator is trying to remove the ACL from the file /home/user/data. txt but receives the following error message:

setfacl: data.txt: operation not permitted
Given the following analysis:

/dev/mapper/linux-home on /home type xfs (rw,relatime,seclabel,attrZ,inodeéd,usrquota)

-IW-IW-r--+ 1 user st
&£

-IW-IW-I-—-+ U3er 3Stdl

3
]

unconfined uiobject ri:user home t:s0 data.txt

# file: data.txt

§f owner: user

§ group: staff
user: :Lw-
user:accounting:rw-
group:ir-

mask: irw=
pther:ir—

Which of the following is causing the error message?

A. The administrator is not using a highly privileged account.
B. The filesystem is mounted with the wrong options.

C. SELinux file context is denying the ACL changes.

D. File attributes are preventing file modification.

Answer: D
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NEW QUESTION 128

A Linux administrator wants to set the SUID of a file named dev_team.text with 744 access rights. Which of the following commands will achieve this goal?

A. chmod 4744 dev_team.txt

B. chmod 744 --setuid dev_team.txt
C. chmod -c 744 dev_team.txt

D. chmod -v 4744 --suid dev_team.txt

Answer: A

NEW QUESTION 131
Joe, a user, is unable to log in to the Linux system Given the following output:

4
&

Jre = 1= aSSh = S5lld

Which of the following command would resolve the issue?

A. usermod -s /bin/bash joe
B. pam_tally2 -u joe -r

C. passwd -u joe

D. chage -E 90 joe

Answer: A

NEW QUESTION 133

As a Systems Administrator, to reduce disk space, you were tasked to create a shell script that does the following:
Add relevant content to /tmp/script.sh, so that it finds and compresses rotated files in /var/log without recursion.
INSTRUCTIONS

Fill the blanks to build a script that performs the actual compression of rotated log files.

If at any time you would like to bring back the initial state of the simulation, please click the Reset All button.

Shippets

#! /binfbash
#name: script.sh

find fvar/log -type f -maxdepth 1 | grep

filename S(cat

do

$filename

» ftmp/tempfile

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Snippets

#!/bin/bash

tname: script.sh

- e s e s s

find fvar/log -type f -maxdepth 1 | grep |
{ ]
f B et
I I filename
| M e
ao
r ————— =
I I $filenam

| ¥ ftmp/tempfile
1

NEW QUESTION 138

A Linux administrator was notified that a virtual server has an 1/O bottleneck. The Linux administrator analyzes the following output:

L ]

L

L

root@linux:~§ uptime
18:43:47 up 1 day, 19:58, 1 user, load average: 9.90, 5.83, 2.4%
root@linux:~¢ vymstat 10 10
PIOCS ~ormrosmane MEMOLY-========= == e B P 1 o el LT a R Spli~emnnne

r b swpd free buff cache 31 50 bi bo in €5 us sy 1d wa
13 0 5520 141228 98932 2325312 O 2 10 28 192 167 1 0 9% 0
10 0 5608 131280 98%32 2325324 O 28211 O 28211 142 i 8 9 I 0
10 0 5528 109 98932 2325324 O 5242 0 5242 333 402 % 4 0 O
root@linux:~¢ free -m

total used free shared buff/cache avallable

Mem: 1833 1454 110 13 Z1e8 2202
Swap: 1497 5 1491

Given there is a single CPU in the sever, which of the following is causing the slowness?
A. The system is running out of swap space.

B. The CPU is overloaded.

C. The memory is exhausted.

D. The processes are paging.

Answer: B

NEW QUESTION 139

A Linux engineer needs to create a custom script, cleanup.sh, to run at boot as part of the system services. Which of the following processes would accomplish

this task?

A. Create a unit file in the /etc/default/ director

B. systemctl enable cleanupsystemctl is-enabled cleanup
C. Create a unit file in the /etc/skel/ director

D. systemctl enable cleanupsystemctl is-enabled cleanup
E. Create a unit file in the /etc/systemd/system/ director
F. systemctl enable cleanupsystemctl is-enabled cleanup
G. Create a unit file in the /etc/sysctl.d/ director

H. systemctl enable cleanupsystemctl is-enabled cleanup

Answer: C

NEW QUESTION 143

A Linux engineer needs to download a ZIP file and wants to set the nice of value to -10 for this new process. Which of the following commands will help to

accomplish the task?
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A. $ nice -v -10 wget https://foo.com/installation.zip
B. $ renice -v -10 wget https://foo.com/installation.2ip
C. $ renice -10 wget https://foo.com/installation.zip
D. $ nice -10 wget https://foo.com/installation.zip

Answer: D

NEW QUESTION 144
A cloud engineer is asked to copy the file deployment.yaml from a container to the host where the container is running. Which of the following commands can
accomplish this task?

A. docker cp container_id/deployment.yaml deployment.yaml

B. docker cp container_id:/deployment.yaml deployment.yaml

C. docker cp deployment.yaml local://deployment.yami

D. docker cp container_id/deployment.yaml local://deployment.yam|

Answer: A

NEW QUESTION 145
A systems administrator made some changes in the ~/.bashrc file and added an alias command. When the administrator tried to use the alias command, it did not
work. Which of the following should be executed FIRST?

A. source ~/.bashrc
B. read ~/.bashrc
C. touch ~/.bashrc
D. echo ~/.bashrc

Answer: A

NEW QUESTION 147
A Linux administrator needs to analyze a failing application that is running inside a container. Which of the following commands allows the Linux administrator to
enter the running container and analyze the logs that are stored inside?

A. docker run -ti app /bin/sh

B. podman exec -ti app /bin/sh
C. podman run -d app /bin/bash
D. docker exec -d app /bin/bash

Answer: B

NEW QUESTION 148
A systems administrator needs to verify whether the built container has the app.go file in its root directory. Which of the following can the administrator use to verify
the root directory has this file?

A. docker image inspect

B. docker container inspect

C. docker exec <container_name> Is
D. docker ps <container_name>

Answer: B

NEW QUESTION 150
Users report that connections to a MariaDB service are being closed unexpectedly. A systems administrator troubleshoots the issue and finds the following
message in /var/log/messages:

} 1 T l'ﬁr'\l.ﬁ ~ - - Y LT 1'-"-"]-.--\.:1 = ATl ==&~ "-_‘F:." |:' 1r-_".-"1-" 1 4
goserver ."-h‘:_.:.‘_"l: out of .'_-‘:"IT.'_.-_:-;: Rllled process lco4 (mysglada).

Which of the following is causing the connection issue?

A. The process mysqgld is using too many semaphores.
B. The server is running out of file descriptors.

C. Something is starving the server resources.

D. The amount of RAM allocated to the server is too high.

Answer: D

NEW QUESTION 155

A systems administrator created a new Docker image called test. After building the image, the administrator forgot to version the release. Which of the following
will allow the administrator to assign the v1 version to the image?

A. docker image save test test:vl

B. docker image build test:vl

C. docker image tag test test:vl

D. docker image version test:vl

Answer: C
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NEW QUESTION 157
Employees in the finance department are having trouble accessing the file /opt/work/file. All IT employees can read and write the file. Systems administrator
reviews the following output:

admin@server: /opt/work$s 1ls -al file
-Iw=-rw---=4+ 1 root it 4 Sep 5 17:29 file

Which of the following commands would permanently fix the access issue while limiting access to IT and finance department employees?

A. chattr +i file

B. chown it:finance file

C. chmod 666 file

D. setfacl -m g:finance:rw file

Answer: D

NEW QUESTION 158

A Linux administrator booted up the server and was presented with a non-GUI terminal. The administrator ran the command systemctl isolate graphical.target and
rebooted the system by running systemctl reboot, which fixed the issue. However, the next day the administrator was presented again with a non-GUI terminal.
Which of the following is the issue?

A. The administrator did not reboot the server properly.

B. The administrator did not set the default target to basic.target.

C. The administrator did not set the default target to graphical.target.
D. The administrator did not shut down the server properly.

Answer: C

NEW QUESTION 163
Several users reported that they were unable to write data to the /oraclel directory. The following output has been provided:

Filesystem |Size | Used Available Use? Mounted on
! - I ' — i - - — — e

/dev/sdbl |100G 150G 1506 50% /oraclel

Which of the following commands should the administrator use to diagnose the issue?
A. df -i foraclel

B. fdisk -1 /dev/sdbl

C. Isblk /dev/sdbl

D. du -sh /oraclel

Answer: A

NEW QUESTION 164

A server is experiencing intermittent connection issues. Some connections to the Internet work as intended, but some fail as if there is no connectivity. The
systems administrator inspects the server configuration:

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy XK0-005 dumps
@ 2passeasy passeay g

https://www.2passeasy.com/dumps/XK0-005/ (161 New Questions)

Routing table:

default via £9.107.157.129 dev ens3 proto static metric 100

default via 10.0.5.1 dev ensll proto dhcp metric 101

10.0.0.0/1%6 dev snll proto kernel scope link src 10.0.6.225 metric 101
£9.107.157.128/26 wvia 89.107.157.129 dev ensd proto static metric 100
B5.107.157.128 dev ens3 proto static scope link metric 140

§9.107.157.160/29 dev ens3 proto kernel scope link src 89.107.157.161 metric 100

IP configuration:

ens3:

inet 89.107.157.1€1/29 brd £9.107.157.167 scope global neprefixroute ens3
ensll:

inet 10.0.6.225/16 brd 10.0.255.255 scope global noprefixroute dynamic ensll

ARP table:

Rddress Hwtype Hwaddress Flags Mask Iface
10.0.5.1 ether e4:d1:54:c4:75:ch C ensll
£9.107.157.125 ether S5c:5e:ab:01:85:ct C ens3
£9.107.157.162 ether 52:54:00:e1:44:0a C ens3
10.0.255.1 ether 00:50:7f:e3:a3a:lc o ensll

fetc/resclv.conf:

Generated by NetworkHanager
search company.com
nameserver 10.0.5.1

Which of the following is MOST likely the cause of the issue?

A. An internal-only DNS server is configured.
B. The IP netmask is wrong for ens3.

C. Two default routes are configured.

D. The ARP table contains incorrect entries.

Answer: C

NEW QUESTION 169
Which of the following technologies provides load balancing, encryption, and observability in containerized environments?

A. Virtual private network
B. Sidecar pod

C. Overlay network

D. Service mesh

Answer: D

Explanation:

"A service mesh controls the delivery of service requests in an application. Common features provided by a service mesh include service discovery, load
balancing, encryption and failure recovery."
https://www.techtarget.com/searchitoperations/definition/service-mesh

NEW QUESTION 172
Users have been unable to save documents to /home/tmp/temp and have been receiving the following error: Path not found

A junior technician checks the locations and sees that /Thome/tmp/tempa was accidentally created instead of /home/tmp/temp. Which of the following commands
should the technician use to fix this issue?

A. cp /home/tmp/tempa /home/tmp/temp
B. mv /home/tmp/tempa /home/tmp/temp
C. cd /temp/tmp/tempa
D. Is /home/tmp/tempa

Answer: B

NEW QUESTION 174

A Linux administrator has logged in to a server for the first time and needs to know which services are allowed through the firewall. Which of the following options
will return the results for which the administrator is looking?

A. firewall-cmd —get-services

B. firewall-cmd —check-config

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy XK0-005 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/XK0-005/ (161 New Questions)

C. firewall-cmd —list-services
D. systemctl status firewalld

Answer: C
NEW QUESTION 178

A Linux user reported the following error after trying to connect to the system remotely: ssh: connect to host 10.0.1.10 port 22: Resource temporarily unavailable
The Linux systems administrator executed the following commands in the Linux system while trying to diagnose this issue:

- —_— = — — - . | - = - " e
L r-.'?-.'--- - 3-- -l.-.'E:.-\- P ---:_:- —— Y
- iy W i ¥ i ™ R Pl ‘. [l & . T =T E Y
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=
i =~ 1
- - ] -
¥ IlI8wWall=CHmg Lt el JUS
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T T - = -
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ey lre - = = ' Lol i
o 60 R c-l--- F - L o e e W -
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Which of the following commands will resolve this issue?

A. firewall-cmd --zone=public --permanent --add-service=22
B. systemctl enable firewalld; systemctl restart firewalld

C. firewall-cmd --zone=public --permanent --add-service=ssh
D. firewall-cmd --zone=public --permanent --add-port=22/udp

Answer: C

NEW QUESTION 181

A systems administrator is investigating an issue in which one of the servers is not booting up properly. The journalctl entries show the following:
Sep -6 AU:30:43 server kernel: acpi PNPOAOD::00: 0SC failed (AE NOT FOUND);

-- Subject: Unit dev-mapper-certos\x2dapp.device has failed

Sep -6 20:32:.% server systemd[Z]: Dependency failed for
== Subject: Unit opt-app.mount has failed

-- Unit opt-app.mount has failed

Sep -6 20:32:1% server systemd(.): Dependency failed for Local File Systams.
-- Subject: Unit locai-fs.zarget has failed

/opt/app

b

=

-- Unit local-fs.target has failed.

}:32:15 server systemd[l]: Dependency failed
¢t: Unit rhel-autoreliabcel.service nas failed
rhel-autorelapel.service has falled.

(]

ri

Felapel all filesyszem, if necessary.

Which of the following will allow the administrator to boot the Linux system to normal mode quickly?

A. Comment out the /opt/app filesystem in /etc/fstab and reboot.
B. Reformat the /opt/app filesystem and reboot.

C. Perform filesystem checks on local filesystems and reboot.
D. Trigger a filesystem relabel and reboot.

Answer: A

NEW QUESTION 182
A systems administrator is encountering performance issues. The administrator runs 3 commands with the following output

L P LW i . - = JLIOLLIL, - =L =g ST l = SV~ G T . LA = o ;

The Linux server has the following system properties CPU: 4 vCPU
Memory: 50GB
Which of the following accurately describes this situation?
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A. The system is under CPU pressure and will require additional vCPUs
B. The system has been running for over a year and requires a reboot.
C. Too many users are currently logged in to the system

D. The system requires more memory

Answer: B

NEW QUESTION 185
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